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8:40 AM Fri 25 Mar

= @ 70% I

110:22 | [ |° 25-1| o B B B ..ol ol Gl jLis - slassI! - paiiall piladl all | =

o

JsaJl The mole

Which of the following does NOT describe the mole? Ssall Cims ¥ N e (6

e e i i L R =
: @ A unit used to count particles directly 5yalae Cilazadl 22l 50355 50a :
L ------------------------------------ - EE N N O O S O O O - J

The S| base unit used to measure the amount 3 S allall ihangll QUi 8 L LY 52l
O of a substance

salall )iz ald 3 anand

O The number of atoms in exactly 12 g of pure C-12 g 12, gl pdally Bignsal QupShaddiaee
A 12 =058l e
O Avogadro’s number of molecules of a compound CSAN Clisal g lagl e
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|

D d>yaiall OUgs¥l Spectator ion

What is the meaning of spectator ions? Saa Bl el Sl ilas
QO !lons that produce solid precipitate from the reaction Jelall fpe Ayl Aboall salall 35,Sa0 i)
O The total ions in the solution of a reaction delal Jalaa 3 s3gapall LN s,
O lons that produce gas released from the reaction Jolal fu selamall Ll 35, ciligi
(O lons that do not participate in a reaction Jdelall 8 el 3 sl clig
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23041 JAS NMUITIDET UT IVIUIES

108:00

e How many moles are in 22.0 g of CO2? fCO2 (» 22.08 35 se J ga oS
Molar mass CO2= 44 g/mol 44 g/mol = CO; i sall ALl

O 1.25 mol

D © 0.60 mol
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107:20 | [ |° 25 -4 O‘ mH BB . s Dl e - clheus! - paiiall pilall Gall | =

How many moles of carbon dioxide CO; will be produced i< 13 CO, (e Sl 20 b O i Ha &
if 100.0 g of potassium hydrogen carbonate KHCO3 have ¢ KHCO; auiiagyugll aslisdl ciliss < ¢ 100.0 g
decomposed?

2KHCO3 (5) — K2€O3 (5 + CO2(g) + H20 (g
(Molar Mass of KHCO3 = 100 g/mol) (100 g/mol =KHCO3 aJgall ASY)

@) 0.5 mol
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e 4 bousd] DMelaildl (o £ 95 Juiai Representing type of chemical reactions

Which one of the following chemical reaction

: . - €ce8 Jolds (B AUl Aslakh CMle il CYalas e ol
equations represents a synthesis reaction? rT——e— P

O ZAI(NOB)B (aq)+ 3HZSO4 (aq) =2 AI2(SO4)3 (aq) 2 6HNO3 (aq)

O 2Pb(NOs)y ) — 2PbO ) + 4NO, (5 + O, g

O GCsHiz(9+802(q) — 5COz4+ 6H,0 gy

: @ 2KCl (s) + 302 g 2 KC|O3 (s)
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102:10

dudleousd| OMelaill (o £ 95 Juiod Representing type of chemical reactions

Which one of the following chemical reaction

: € 9Ss Jolis Jiad Al AnlaShl e lEl Sl alas S
equations represents a synthesis reaction? G e

O ZAI(N03)3 (aq)T 3H,S0, (aq) A|2(504)3 (aq) T 6HNO; (aq)

O 2Pb(NOs)y ) —  2PbO 5 + 4NO; () + Oy g
O CsHia(9+802(59 — 5CO2(+ 6H20 y

: ® 2KCl (s) T 30, g 2 KC|03 (s) :

@ b o o o omm e oam ome e e Er e s e me R EE e M EE E B EE B R M R M S e e M G M B e S e N B e e Em s mm mm e -l

CamScanner = Ligd d>gwaall



8:48 AM Fri 25 Mar

T @ 68%m )

10158 | [ ‘O 25 - 6 o CHE U . et il s - o) - padiall yilall Guall | =

What is the empirical formula for a compound with the following

percent compositions shown in the pie chart below?

©

Molar Mass:
C=12g/mol
S=32 g/mol

O

CaS

Jial (B sl call e ging GG A3 daall L

alisf (slall sl

O

3l yal) 21
12g/mol=C
32g/mol=§

o
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Molar Mass: A gal) ZLH
C=12 g/mol 12g/mol =C
S=32g/mol 32g/mol =5

O CS

CSs

Coen I
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10131 | ‘e 25-7 o CE OB . el il i - sl - puiiall pilall )l | =
e Which figure_s illustrates evidence of a chemical reaction? ‘ f e delin digan e Sy b s L-g'\

1 2 3 4
A banana changing from Fireworks Water boiling Chocolate melting
green to yellow
355l gl s Ay 50 el oLl oile 25V S 520 gl

el (A i e
'® 1and2only L2 41 !

O 3and4only ' L4 43

@ O 2and3only a3 42
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d g0l alisJ] Molar Mass

What is the molar mass for the compound C;HsOH ?

¢ CoHsOH S yall 44 gall Al L

@ 68% mm )

HYDROGEN 5 . HELIUM
1 Periodic Table 5
H : He
i Elements 1- 18 o
LITHIUM BERYLLIUM BORON CARBON NITROGEN OXYGEN FUORINE NEON
3 4 5 6- 7 8 9 10
Li Be B C N (0] F Ne
6.94 9.01 10.81 12.01 14.00 16.00 19.00 20.18
SODIUM MAGNESIUM | ALUMINUM SILICON PHOSPHORUS SULFUR CHLORINE ARGON
11 12 13 14 15 16 17 18
Na Mg Al Si P S cl
23.00 24.31 26.98 28.09 30.94

34.0 g/mol
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101:04 | [ |° 25-8 O‘ O E LB . ded bl s - cles] - paditall sl Guall | =
Li Be B C N (8) F Ne
6.94 9.01 10.81 12.01 14.00 16.00 19.00 20.18
SODIUM MAGNESIUM | ALUMINUM SILICON PHOSPHORUS SULFUR CHLORINE ARGON
11 12 13 14 15 16 17 18
Na Mg Al si p s i Ar
23.00 24.31 26.98 28.09 30.94 32.07 35.50 40.00

O 34.0 g/mol
O | 89.0 g/mol
O 46.0 g/mol

B O 62.0 g/mol

L [T
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N 025—90

Using the reactivity series of metals, what would yield Jladay) Jelal el zalll La ¢ Sl Ll Al Lt e

e the single replacement reaction of calcium (Ca) with ¢ Zn(NO3), (aa)ladl il e (Ca) apdll o s2aY

zinc nitrate Zn(NO;),?

100:54

CHE OB . Lo il s - closs] - paiiel yblall Gall

Ca [S) + Zn(NO3)z {aq) —

|
ot METALS ol plad) |
Most - ST | ithium pot] O
active Wl Rubidium Inggd;-::g_,.”
Potassium  pseulssa) |
Calcium p o LSJ)
Sodium psasguall |
Magnesium  pgrusill i
Aluminum assd) ,_
Manganese RELES J
Zinc u-_l..na_;u:'
Iron aad)
Nickel Jsall
Tin pauaall
Lead yolia
Copper gl
Nl Cilvar - . .

24%
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> Lead el
0 Copper wulsal)
s Silver dnzl)
Least Js¥ Platinum oS!
active Wslss Gold Cand
O NR, No Reaction / Jelis i, )
O Zn (S) o} Ca(NO3)2 (aq)
O Zn(NO3)2 (aq) T Ca(OH)2 (aq)
CaCly oq) + Zn

T @ 68% @)
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N |° 25 - 11 O‘ C H OB . e il )l - clousI - puiial] sl sl

100:18

o

dwo¥! dsuall Empirical Formula

Which one of the following is the empirical formula for N,O4? ¢ N,0; Sl 4 oY) dapall o 3 Lea

el NO

O A NO,
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100:07

o 48,i0)) s3] dolzall Net ionic equation

What is the net ionic equation for the following reaction? 7l Jolill 4B Jall A oY) Aslaal) Le

CaCl (aq) + 2NaOH (aq) — 2NaCl (aq) + Ca(OH)2s)

O 2Na+(aq)+ ZCI-(aq) — 2N3C|(aq)
O Ca**(ag)+ 20H (ag) — Ca(OH)z
O Ca**(aq)+ 20H (aq)— Ca (s) + Qz (g)+ H2 @

+ = + - 4 H
O Caz+(aq) + 2C|_(aq) + 2Na (aq)'l' 20H (aq)—"> 2Na (aq) + 2C| ( q]+ Ca(O )2[5)

i o ny
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99:58 | [ '0 25-13 01 < [ & B v Jrodll dylgd Ui - elpousd - paidinll jislall uall | =

0 Glujadl vae Number of molecules

How many molecules are in 60.() g of glucose (CeH120¢6)?

§(CeH1206) 59Sslall s 60.0 G B 535 9all Cliiall 2 oS

Molar mass of glucose (CgH1206) = 180 g/mol 180 g/mol = (CsH1205) 3553ill 44 gall ALSTI
Avogadro’s number = 6.02 x 102 6.02 x 102 = g;5l-93l suc

O 7.83 x 10%

® 5.16 x 10%

O 2.01 x 10%

9.22 x 10%
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99:49 | [ ‘0 25 - 14 °| 2B . et il s - el - padioll ptlall Guall | =

-
-t
L

Which statement of the following is correct concerning molecular formula? Tigy sl dapally Glady Lad dagana 200 St Ll

It is the formula with the smallest whole-number mole ratio

10 A0 ge A ey € B 45 KL pcliall b L3 dieall
of the elements in a compound ke i R A
2 | It the same as empirical formula for some compounds
It specifies the actual number of atoms of each element in ane L | i o § e Y gl 8 e S A 8 1y sl
| molecule or formula unit of the. stbstance’s & 2 g i | e : >

S all mnd A0 400 Aaseall s 565 | 2

O 1 only
O 1 & 2 only
O 2 &3 only

@) 3 only

e
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8:51 AM Fri 25 Mar = @ 68% W)

99:39 | [4 ‘o 26 -15 O‘ SE S B . il s - cla - paiell palall dall | =
o duilousd] Oblwad| L p=5 Define stoichiometry
Stoichiometry is based on the law of .... ceee 0988 e amin A6l cililall
O Conservation of energy IR
(O Constant mole ratios ) A gall Cauail O
O Avogadro’s constant I lagdl Culs
(O Conservation of mass Al dada
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00:28 | [ [ 25-16 o oE R . wlm@,@hswl-,mwlﬂwl Gall | =
4 Which of the followmg statements are correct - i ;
b S 3l daina N el Ladl -
related to mass and the mole? Tolpally A5E0y A bk R 00 ool

1 | Amole always contains the same number of particles Colasal) (pe 3aall aii (5ny Lails Jgall | 1

2 | Moles of different substances have different masses ks 4 ABS Ll Rl Slgall CiYga | 2

3 | Converting from mass to mole we use
a fixed ratio for all elements

O 2 and 3
O 1,2and 3

@) 1 and 3

a O 1 and 2

B 4
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° 25-17 °

blue squares represent ele

Eﬁé

< Jeanl| Wlgi )Lz -
ment X, o
green circles represent element v,
Which of the following is correct?

X el i 08,50 e
Y il i g ) padl) _,.u[g.ﬂi_g

|
et Y ?

O Limiting reactant is X,
O Limiting reactant is Y,
QO X; is consumed first in the reaction

At the end of the reaction an amount
O ofY,is leftover unreacted

' 2.! 1%

X; 38 Sl Jelaza)l
Y2 99 dd=oll Jelaiall

L8 5 Joliah g
dlelaio ALY, e
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99:07 i N |° 25-17 °| o H B . e il s - lessIl - padiiall pile)l ool

Which of the following is correct? ~ E S

0!5
:> || II

O_Lfrﬁiting reactant is X - X; ¢2 du=oll Jelazoll
O Limiting”reac;c_é.n‘_f is YZ— ._ - | = Y, o8 ddz=all Jelaiall
O X, is consumed first in the reaction Jeladll 3 Yol X, HMgiul o

At the end of the reaction an amount d.uSuu Jeladll lg 3

QO ofY,is leftover unreacted delite p2Y, oye

CamScanner = Ligd d>gwaall



8:51 AM Fri 25 Mar ’ 2@ 63%m)

08:55 | [J ‘c 25 - 18 oq CHE OB . ol il ki - et - padiall pblell Gall | =
What is the percent by mass of sodium (Na) in (o o3 gall peaie NS Cuiay 4 gl Ll L
sodium sulfate (Na;S04)? i Y(NazS04) p g2 gall Gy <
Molar mass: 4] gal) ALK
Na =23 g/mol 23 g/mol = Na
Na;S04 =119 g/mol 119 g/mol = NazS04

O _ 77.3%
®) | - 19.3%
O 38.7%

O 23.1%

e e R T, T e o T P Sk e
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08:45 [Il‘o 25-19 °1u % B e ] dylas jLisH - eleasSdl - podiall jilall aall | =
o Which one of the following reactions in aqueous solution Al e il e Aglall Jilladll 3 20 e tial)
produce gases? ¢ el 5355

O Cal) + COzg — CaCOs(y)

O 2HI (uo) + LizS 55 — HaS g+ 2LikGq)

O 2HCIO(aq) + Ca(OH)2(aq) — 2H20(y + Ca(ClO)z(aq)

O 2NaOH,q) + CuCly(ag) — 2NaClag) + Cu(OH)y(s)

I ¢ 2
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N le 25 - 20 °| R B o g s - el - padiall pilall Gaall

98:36

Ol el vae Ho O¥gall sae Number of moles from number of molecules

How many moles contained in 2.50 x 10%* molecules s> 2.50 X 102 3 835asall ctfpall 22c oS
| of ammonia NH;? INH; Lig'l) ‘e
Avogadro's number = 6.02 x 10% . 6.02 x 107 = 4 lagi 2o

® 2.40 mol

O y 4.15 mol

O 0.24 mol

O 0.42 mol
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N |° 25 - 21 OI SN BE . Lo il - ol - paiiol sl Giall | =

08:24

o | Jgadl & Olyadl vas Number of atoms in mole

What is the number of atoms in a 0.645 mol o A e 0.645 Mol i s3sasall Al e oS
f Ar)? ' -
sample of argon gas (Ar) S(AT) s e

Avogadro’s number = 6.02 x 103 ' 6.02x 102 = 4 a2
O 462x 102 ato ;562X 107
O 1.07 x 1023 atom 3 51.07% 1083
O 9.33x 102 atom 5,39.33 x 1023
O 3.88 x 10?* atom 5 5 3.88 x 1023
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o What is the solvent in aqueous solution of hydrochloric acid HCl(aq)?  HCl(aq) sl 9 sl Jaas Jglam 3 uill L

'
https://t.me/Alef1190

O Cl

® H*

HCI
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98:01

©
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97:47 | [ ‘o 25 - 23 OI CH B e ool dylgs YL - el - padiall pilall Gall | =
duileousd] doleall; j90,] Symbols in chemical equation
What is the purpose of the symbol (2) in chemical equation? 4Ll Aalaal) & (2) el e a2l o8 L
o Separates two or more reactants or products S f a8 culelite oy Joatd
O Identifies a water solution le Jglaa e i
O Separates reactants from ;Jroduct; ;d i_ndicates a reversible reaction ilSail Jelid e Juiy 205l e ESlelital Joais
O Separates reactants from products and indicates a one-way reaction )y oladly Jelis e Juy o gl o &—L;-I:-Ll.u.]‘ ‘_L‘-.i:_
;
S 04%
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97:29 | [ l° 25 - 24 O‘ CE OB . Jod il s - bl - paiiod il uall | =
o - dwlvousdl Oilelad] auiual Classifying Chemical reactions
What is a reaction of a substance with oxygen and 8y (o8 ALk lallas (paas€Y) o 5ole Jelis and 13l
releases energy in the form of heat and light? e smys )

O Deco;ﬁp_o.sitic.)r; reaction S _ S8 Jelis
O Combustion reaction _ B il Jeli
O Single Replacement reaction ‘__;,-.w.\;i Jaiad Jel\ds
O Double Replacement reaction z 5330 Jagu Jeld
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A ‘ 25 - 25 O‘ CSH BB okl - sl - psitall il o)

R T e e et g arag - —— . ———

97118

g What is the correct balanced skeleton equation that
represents the chemical reaction below?

Sid W Al janally g jgall dlslaall Le
olisl lasll Jelial
Hydrochloric acid (HCI) reacts with solid Aluminum (Al) metal

(A1) bl p5al91 516 wa (HCI) lsy 63 pall as Jelizs
to yield aqueous Aluminum chloride (AICI3) and Hydrogen gas (H,)

(H2) tnzrayad)! 5leg (AICHS) 03 Jsloxa Jand

O 2Alg + 6HCl y) — 2AICI3 0+ 3H2 (aq)

O SAl@g) + 3HCl g — 3AICI3ag) + 3H2 g

O 2Als) + 6HCl a)  — 2AICl3 (a) + 3H2 g

m o) 2AICI3 (ag) + 3H2(g) — 2Al(g) + 6HCI (5q)

o
=
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